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Topic:- Child Development & Pedagogy (CDP)

1) Identical Twins have . | GHFY S[ai (Mgsfedwd gi)
1. developed out of two ova / Eﬁ sl O faslya Eﬁ?f %I

2. no identical heredity/afl's“; o gawT mgafélw eT gidr gl
3. common heredity / 5 THTeT ﬁﬂﬁfﬂﬁT grdr gl
4. usually no resemblance to each other/ 37T X 9T Th qgﬁ q PIg AT 18T ¢

Correct Answer :-

« common heredity / H @A a@afe\lw giar &1

2) Masculinity and femininity are typically linked to

| S B €1
1. Sexism / TelaTdig

2. Sex / felar

3. Gender / foiar

4. Patriarchy / Tdced

Correct Answer :-

« Gender/ a1

3) It's the part of the scientific method that uses the data to help explain the results of the

experiment. What is it caIIed?/ﬂgaﬁTﬁﬁ?q@'ﬁﬁwméﬁﬁm%Wﬁ
RS HI A Heg B 3 AT BT SUANT Hal 31 33 T Hed 82

1. Conclusion/ sy
2. Purpose/ FATSTeT

3. Hypothesis/ 9eheTdAT



4. Observation/ 3TdcileheT

Correct Answer :-

« Conclusion/ fshy

4) Judgment should come through a systematic analysis and evaluation. This is known as

_ ./ ol v oafRua faxawor sk geaied & Areaw | giFn ifeul 31
9 & ST ST 8

1. Critical thinking / 3TgeT TRideT
2. Insightful thinking / 3 fSequl fRider

3. Emotional thinking / HTdsTTlcHe% el

4. Divergent thinking / 3T99RT TIdeT

Correct Answer :-

« Critical thinking / 3TgeT f&iceT

5) The average attention span of a high school student is: / T TS el ¥ o i taa
e Aty fhae @ &

1. 32-40min/ 32-40 fAsIC
2. 25-30min/ 25-30 A=
3. 10-12min / 10-12 A€
4. 15-20 min/ 15-20 fAsTC

Correct Answer :-

e 10-12min/ 10-12 fAse

6) When is the best time to reinforce behavior? / SJagR HI JAAd HIA H TG ST
AT §d 82

1. Long before the behavior occurs / cIdgX ?I?-T q Elg’(—f HAT ‘T&"@f

2. Long after the behavior occurs / IR &lel o ofd THI dI¢

3. Shortly after the behavior occurs / SIdg g S AT dl

4, Shortly before the behavior occurs / cIdgR ?I?T b=y S HAY L-I*ao\i

Correct Answer :-



« Shortly after the behavior occurs / SIdgR g PO AT §Iq

7) When a pleasant stimulus is added to increase the incidence of a behavior, it is known as:
| ST U SAAGR Y AT P 951 & [T TF GG 389 H AT AT 8, AT 3
T H ST ST § |

1. Positive punishment / §hRTcHb GUS

2. Positive reinforcement / HhRTcHh go-lcfloia-i

3. Negative punishment / sTohRTcHh qUS

4. Negative reinforcement / sTohRTcHb Lj;:-l«scloio-l

Correct Answer :-

 Positive reinforcement / HhRTcHh l;iﬂ;:-lscloio-l

8) Unless the typist, in order to learn typing prepares himself to start, he would not make
much progress in a lethargic and unprepared manner. Who proposed this learning theory

which believes in the ‘Law of Readiness’? / SI§ d& cISA¥e, agﬁvr sfaer & Qv gq
aﬁwwﬁﬁ:ﬁwmaﬁm%mﬁaﬁwmﬁtmmﬁm
maﬁmuwmmmmﬁmmm T & e A
faearw &ar §72

1. Jean Piaget / SfieT TSt

2. Edward Thorndike / USds U85
3. Wolfgang Kohler / aiehalaT dhlgek
4. Tan Pavlov / 34T UTdeild

Correct Answer :-

« Edward Thorndike / USdS UTISSeh

9) One way to involve all students in the class, so that no one feels left out is by: / & J

st sl A afAe w1 vF alFw @ § A’ 9 o T Aeaw T W F 3@
oI & 3 §:

1. Punishing the non-performing students / I-9eeTT T arel BTAT P €8 &l

2. Changing the seating arrangements / SG ST STGEAT I FTGofed]

3. Ignore the uninvolved students / TS=IT enfder gl arer BTl T 3ULT el



4. Send the uninvolved students out of the class / ICRIRUIES] E?f%[ i S Bl DHET q dlg v
ol

Correct Answer :-

« Changing the seating arrangements / S&e1 @l cIATAT Pl SGolell

10) During a guidance service the help that a client receives is for: / T ArtgesT dar &
e, ag #Ace Y UF ARF A U fav A §:

1. giving solutions/ THTHTT el
2. making decisions on behalf of the client/ ITgeh T 3R & oot o
3. impose opinions/ I A=t

4. focus on setting goals and problem solving/ o1& fraRoT 3R gHEIT gAY W
Ol

Correct Answer :-

» focus on setting goals and problem solving/ & freRor ik gFEar geEYe W)

11) During development, a major prerequisite for learning is: / @@ & gRwet, rflasr &
fT v gog@ ot @

1. Maturation / 9RUFadT
2. Encouragement / JicaTgel

3. Guidance / faermeT
4. Financial help / fdcdr @graar

Correct Answer :-

« Maturation / IR9aradr

12) Qver protectiveness of parents leads to in the child. / ATA-Rar 7 33ats
FTcAHAT o HY # 3R F S B

1. Confidence / 3TcATaa T

2. Dependence / f¥eRar

3. Ego strength / 3-1€T=FIT IEG]

4. Level of aspiration / 3ThT&IT TR



Correct Answer :-

« Dependence / IGEIGII

13) Which of the following is a characteristic of the project method? / #=faf@a & @&
Fia-dY vF doge A i fadvar &2

1. A voluntary undertaking / Ud> @quo gddry %I
2. Carried in its natural setting / 3011 W‘%ﬁ? TfeT & &F ST ]
3. Problematic act / JHYITHD OPIJI

4, Used for all round development of child’s personality / T & Ifadd & gafior e & %‘I’Q
SUIRT & e g

Correct Answer :-

« Used for all round development of child’s personality / ST & afadd & gafior e & 1%’1?
SUINT & el g

14) Which one of the following is a principle of counselling/ fafaf@a & ¥ Far 9w
&1 o fguia 32

1. Diagnosis of external appearances. / STg3l f¢@rd & G|
2. Acceptance and understanding of individuals. / SIT&ddt T Fﬁ'ﬂjﬁf 3R F#FE|

3. Flexibility of program according to community needs. / F@aﬁ? 3TALIHRATIHT & AN
FIIhHA T AT |

4. extending help to all individuals. / Y cITFAAT Pl TETIAT YSTeT HleAT|

Correct Answer :-

« Acceptance and understanding of individuals. / SITFAAT T Fﬂﬁjﬁ AR GH

15) Which is the second stage of psychosocial development according to Erik Erikson? /

RF tRFET F IqUR, AEHITSNS &AFE FT g@Er =@ o Hia-ar g2

1. Initiative vs. guilt / gl delTH 3O

2. Autonomy vs. shame and doubt / TITIAT FITH QA 3R TE

3. Industry vs. inferiority / GRS FATH EleTdl

4. Generativity vs. stagnation / 3Gl §dATH Sglld

Correct Answer :-



« Autonomy vs. shame and doubt / TIAIAT §AH T iR TE

16) The premise that an individual's behavior and affect are largely determined by his or
her attitudes and assumptions about the world underlies: / a8 3TUR 3 fFdY =aFa &
agR AR gHE A 93 YA W3S Ao IR g A wEm F A A
A3 garr fuiRa frar S &

1. Cognitive-behavior therapy/ HalTdTcHh-cTdgk AT

2. Psychoanalytic psychotherapy/ HANTALAYUTcHS Hell [ TchedT
3. Milieu therapy/ o3 a¥dr

4. Modeling/ ATSToIaT

Correct Answer :-

« Cognitive-behavior therapy/ HalTdTcH-cTdgk AT

17) In which stage of development does the child learn motor and physical skills necessary
for playing different indoor and outdoor games? / @&/ & &y aor # goar R
313 31X 3M3EER A7 @ea & AT 3maeds A 3R arifiRE sl daar &2

1. Later childhood (6 to 12 years)/ T STeATaTAT (6 ¥ 12 dV)

2. Infancy (up to 2 years)/ AAATAEAT (2 IV dh)

3. Adolescence (from 12 to 18 years)/ fRIRTGEAT (12 ¥ 18 dY dh)
4. Early childhood (3 to 5 years)/ IRfHeh STedraedT (3 5 V)

Correct Answer :-

« Later childhood (6 to 12 years)/ 9T STeATaTAT (6 T 12 dW)

18) What must be encouraged in the second stage of psychosocial development according to
Erikson? / TREFHT & HJAR, AANGAAF @FF & q@ @1 § F41 Dcamegd BFam
ST Tfee?

1. Relationships / T&eT

2. Support / HEANT
3. Proximal development / foeheads Taerd
4. Exploration / 3{ed¥0T

Correct Answer :-



« Exploration / 37=d¥uT

19) What is the term used to denote the long-term increase in IQ over the past few decades?
| Rod & qudl &, eftwmar IEFy) A fuwrfas g F1 AFhaT = F Qv
e ereg F1 39T fRaT STaT @2

1. The Flynn effect / foFeleT TTa

2. The generation gap / 9Tgr 3TaRTel

3. The 1Q effect / 3-]T§EF€{\ IHTT

4. The Wechsler effect / dTER JHIT

Correct Answer :-

« The Flynn effect / TFelel T

20) What theory focuses on the role of operant conditioning in language acquisition? / #T9T

H#AIEUr # FHA AeTHAT A HAF W T 71 Ry Ha
1. Nativist theory / afefase @Eﬁﬂ?—l’

2. Nature theory / ‘;IT% facura

3. Cognitive theory / HTellcHs® TASHTT

4. Behaviourist theory / cTdgRare f&gurd

Correct Answer :-

« Behaviourist theory / STdgRaTE! fAcurd

21) What career would be ideal for a child with high spatial intelligence? / 3= Taifa®
E ad To4 F AU i q1 gawT ey gen?

1. Architecture / ATEJhelT

2. Musical composition / HINd I=AT
3. Politics / TTSTeilfcl

4. Writing / Ter@sr

Correct Answer :-

o Architecture / arEdehell



22) Interest as well as is a must to achieve desired success in a task. / T & 91T -a1g
, T T & ifSd AheldT UTcd il & [T 3maed+ g

1. Attitude / 3TFRGFRY

2. Hard work / &R IS
3. Aptitude / JTdT

4. Intelligence / ﬂﬂ'ﬁ'

Correct Answer :-

« Aptitude / J¥IT

23) Who is the father of Psychoanalysis? / ANTARANT & SeAsh i §2
1. Carl Jung/EF»Iﬁ ﬂW

2. Erik Erikson / TR TREFHT

3. Jacques Lacan / STeh CIEaI

4. Sigmund Freud / F89HS Hras

Correct Answer :-

« Sigmund Freud / [87H#s %S

24) The Two-factor theory is introduced by: / gfd®R® fRguid sa1& garT yfaurfea
frar

1. Lev Vygotsky / fora arsaiicaehr
2. Abraham Maslow / 3TsTgd ATEAT

3. Jean William Fritz Piaget / Sii<1 faferad fhes faamat

4. Frederick Herzberg / DhSI“QOb Svlcd‘lc

Correct Answer :-

o Frederick Herzberg / Cbsi\{do 6\;[@“?

25) The two factors which were identified in the Two-factor theory are: / gfa®R®
fguia # e & FR&T A vga & 7§ €AY, 3 §

1. chemical and social / TRETfA® 3R @A
2. motivation and hygiene / 3IfOROT (Aifeaere) 3R FTaTodr (g8eie)




3. physical and economical / #ifas 3iX Mg
4. biological and environmental / Sfae iR wafarufiy

Correct Answer :-

. motivation and hygiene / 3RO (FAfeaee) 3R TaTadr (§Esi)

26) Louis L. Thurstone did not focus on which of the following abilities? / RFIfaf@T A A
forer a1raT WX 3w v, gLt F earer Ffga w1 fram

1. Associative Memory /'Hﬁ'lff?ﬂ_ﬁ
2. Verbal Comprehension /?Fﬁmﬂ_q"c'm
3. Psychomotor Ability / #ATIROT JIAT

4. Numerical Ability / IRSTHD &I

Correct Answer :-

« Psychomotor Ability / AIIYIOT JIAT

27) Problem in spelling and reading are faced by a child affected by: / %1 & ysnfaa s
TT9 gaNT qcisit 3 IgeT # HAEIT T GTHAT FIAT ST 8

1. Dysgraphia / feganftear
2. Aphasia / aTTdTd

3. Dyslexia | BrafEgar

4. Dyspraxia / fFSEoTFaar

Correct Answer :-

« Dyslexia / F3Taifdaar

28) Pedagogy means to | Rrememea &1 3
gl

1. educate the child / §=d o ATET HET

2. lead the child / = &l o%d;q el

3. guide the child / ST T IMSS Fl

4. understand the child / ST HI JHST

Correct Answer :-



« understand the child / SO I FHSTA

29) The method that enables a student to solve a problem, carry out a task, or achieve a goal
through a gradual shedding of outside assistance is called: / & ﬁﬁ[ G‘ﬁ W SHA aﬁ W
U B g6 B, foelt wrf o1 3 37 a1 A58} AeTdT & HiUP Ueg S wHAH
A TP AT U B3 T & S 3, 39 gl oIl &

1. Scaffolding / 9T (THHITes3T)
2. Active learning / feha 31f&9TH
3. Root memorization / #el AT

4. Drilling / TSfeiT

Correct Answer :-

« Scaffolding / 918 (ThHifesaT)

30) Babies learn to differentiate between day and night by the age of ./ Cd|

3Tg I F= A iR Ia A 3iaR 1 dhed 21
1. Six months / &g HAglT

2. Three months / cilel HFalel

3. One year / Ueh a¥

4. Nine months / =it Hglel

Correct Answer :-

« Three months / el FgIT

Topic:- General Urdu(L1GU)

1)

0 SN S ST P
1. ‘T'F"}?‘UI
, S

/EE o ol

3.



£
4.

Correct Answer :-

Ao sl

2) p
iédﬁ@urwumeGLf
¥
e
L:Jg

3.

uff
4.

Correct Answer :-

S sl
4, i

Correct Answer :-



4

) )
Syl sl kil A

it
1.

-y
4. =

Correct Answer :-

-

Py

IR Ay
-4,
L. ’

PR Ll

2

N uﬁlﬁf( e

y( I3 i.f(:u[f’h

4

Correct Answer :-

y( L3 i.fr::.f;?



ié.ﬁf,gdﬁz_ﬁi’:f,u
i‘lf'/f;u iiiiiiiiiiiiiii L:.l)( Ay

Correct Answer :-

ﬂLﬁJl_.

8) " e 2
GUF SEud UG (1857



2
ot
) Aol sl

Correct Answer :-



Eﬂflﬁj
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w
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4,
Correct Answer :-

/55 ol

13) S W =
SR A R
ol
1. o
ey
2. ~

uﬂld[ =Nyl

te

4.

Correct Answer :-

14)

Tti.;l/‘l{r:_f “Coil S
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| Lokl LY

P

5 V)
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Correct Answer :-

) -é./ﬂf)/,?dGLEEfoJJ
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Correct Answer :-
iz,
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o G B s
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Correct Answer :-



17) & s . |
-H_.Lff_(ufk::fwljdydu’%m"df‘ﬁu L,r:u;l
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L
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Correct Answer :-

J;I}T
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21)
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Sk

1.
, L‘frfu' 1"
DIVl

Vel il
4,

Correct Answer :-

) -é./ﬁf}(jdt:;:,ﬂﬁf&f;g
B Rl e o 2 AU 2

o
v
1.
o[y
2.
I.-’
Ol
3, :
& /'
H_} A
4,

Correct Answer :-
ez



24) g
¢ L,Z' -.:.fr/[_f e e

) 1947415

2 1948512

3 19471114
195055226

4,

Correct Answer :-

194727115



2]
uﬂ{

4.

Correct Answer :-

26) )
Setbbe o ey

19505226

. 1948512

1947415

3

4 1947114

Correct Answer :-

- 19504.#226

27) y "
?dﬁgﬁﬂyﬁ L}E
. 1157
1947
2.
1957
3.
1857
4,

Correct Answer :-

1857



28) ”
CLaltal .._..J-'}GJ’ o= sl

1835

1

1837
2.

1832
3.

1830
4,

Correct Answer :-

1837

u,r_uf:“
30) -
19, ==
ubﬁJL.



oz 1%
2.

Correct Answer :-

ol.z 1%

Topic:- General Hindi(L2GH)

1) 9% qu 9¢ gen IR qu 9¢ Ian
TTY § &l T3 ST &l 9ol T
ol W g e aat HH Fob TET
dR g4 9¢ Tan IR qu 9¢ Tarn
| UETS & Rie 31 qe1s 8l

¥ s s31 7181 g frse sel agt
dR g4 9¢ Tan IR qu 9¢ Tar
uTd g1 fb I Y W A AU B
T4 9 9¢ 9l I § 9¢ Tt

dR qu ¢ gan ¥R ga 9¢ Tan
ITT U B TP 19 IR T1H 9T U BT Ik Jaise|
e IR | @ s 82

1. HHAIR

2. 9

3. &a

4. fasgr

Correct Answer :-

2) 4R q# ¥¢ TeN R gH 93 Tal

YT H 99T ¢ O T |l |



a7 g A€ oW F o A
R qH 9¢ Tl o A T @
A qerE @ RiE A gErs @

@ fast s 7€t qw fast ser adt
R g 92 Tall o) gF 93 TN
w8 fF Td @ Hor g T Wy @
¥4 ¥ 9 9 I & 9¢ 9

R qi 9¢ Tan R gH F¢ Tan
39YFA IGHY Y YGHT Al & I aTd WA FT 3ca] TABTI
geeT: A FHAT FAT FIAT §?

1. IgTRICT &l

2. HiehdT &

3. GgIsdT ¢l

4. IRSAAT ¢l
Correct Answer :-

-IES

3) 4R g F¢ Tan €} g 93 Tal

Y H €I W 91 gl Woll @

tas Feft g TE g Felt T A

R g T¢ Telll R gF 93 T«

oA 9ETS @ e A gErs @

a# fast =0 @dt g st s

#R g T¢ Tal oK gF 93 TN

wid g fF U & |@ar @Y o Wiy @

¥4 @ 9¢ Tt Tog F 7§ T4

R qH 9¢ Tl R A T @

3YYFA TSI T YGHT AT q&F S a1 WA FT 3cal TARTI
weeT: Ffa g I ¥ s 1 AT FT @ 872
L §TH & P15 QT

2. %had 2

3. hdel UgTS



4. 9g18 3R R alar

Correct Answer :-

. g8 3R W arar

4) ¥R g ¥¢ Tl O gH I3 TaN

T F o W/ 9 & Woll W@

eqar w3t @& T qo N o A

R qH 9¢ Tl o A T @

A 9ETS @ g A g @

a# fast s 7€t qu fasw ser adt

#R g 92 Tall o) gF 93 TN

w8 fF Td @ Hor g T Wy @

¥4 ¥ 9 9 oo & 9¢ I

R g 9¢ Fan R gH T Tan

39AFT ISHY T YGHT Al & e a1 WA FT 3ca] TABTI
weeT: i Aedl gout 1 fFud FA I qgd # NG W @ 2
1. gF 3R oA

2. gag 3R A

3. &RAT A 3reprer

4. T 3R feeT

Correct Answer :-

o I 3R Tgegar

N

5) 4% & a¢ Te € T ¢ T4
T F €9o W 91 &of Woll &
tasr w3t oF G qor Fef wF G
I qF o Ten oK 9% Ta
A 9ETS @ [T A gEs @

A st 0 7@ qH st s @dt
R q& 9¢ Tl R A T @
oid @ 6 Ta @ "o @ 7 Wy @
T F 9¢ A o5 @ 9 TA



R qH 9¢ Tl o) A T @

3YYFA ISHY T YGHT AT qF S a1 WA FT 3ca} TARTI
yedl: FTI, WEH [ F FIT FF T 87

1. 3T S§gel @l

2. 91y HgeT Y

3. el &

4, Ual-AleT T

Correct Answer :-

o 3TN dgat HI

6) R T ¥¢ TaN o gH I3 TN

T # ol W/ 91 & Woll W@

tas w3t g A g el T A

R qH 9¢ Tl oR A T @

A 9ETS @ R A gers @

a# fast s 7€t qu fast et adt

R g 9¢ Tan R gH T¢ Tan

w8 & Td @ Hor g 7 Wy @

¥4 ¥ 9 9 oo & 9¢ 9

R qH 93 Fan ok gH T Tan

39YFA ISHT T YGHT Al q& I a1 WA FT 3cal TASTI
veeT: w3 fFEa AT g N Fgar 87
L §TH & FIT e

2. hdel dR

3. %ad ¥R

4.9 3R X gt

Correct Answer :-

« IR 3R O gt

7) 4% & 9¢ Ta o) I ¢ e
T # €T W} 91 g HoAl W@
tas et g A g Felt T A



R qH 9¢ Tl o) A T @

A 9ETS @ R A gers @

A fst =0 widt g7 @At ze ad

I g7 @ Tal oK qF @ A

w8 fF Td @ Hor g T Wy @

¥4 ¥ 9 9 I & 9¢ T

R qw 98 Tan R gH 9@ Tan

39T YGIIT Y YGH A qF A gl T FT 3ca} qaqrsv|
weoT: ‘i I 9¢ FaAr F IrYSH Aeq FAT §?
1. =rell

2.qH

3.9¢

4. 8T

Correct Answer :-

. §¢

8) drX gw w¢ el €K g T¢ TN
T # € @ 9 E Folr W
tasr w3t §1F G g FI wF G
R qH 93 Fan ok gH T Tan
A qETs 8 RiE A gErs @

a# fast =0 @dt g st =
R g T¢ Tal o gF 93 TN
wid & o6 Ta & "or @ o |y @
T @ ¢ Tl oo ¥ 98 Tl

R qH 93 Fal R gH 9 e
3YYFA ISHYT T YGHT AT qF S a1 WA FT 3ca}l TAZTI
gesT: Ud FT fqAH 2reg gem?
1. A

2. feat

3. fovem

4, YTd:



Correct Answer :-

9) dR qH ¥¢ el ¥R gH 3 TN
Y H €I W 91 gl Woll @
tasr Feft ofF G qr Foft &F
R g 9¢ Tan R gH T Tan
oA gers @ e A qers @

@ st =0 ad g fast ser o
R qH 93 TN R gH I Tan
v 8 B T & |or Y F W @
T @ 9¢ Tal I ¥ 98 Ta

R g T¢ Tal o gF 93 Tan
3YYFA TSI T YGHT Al G I a1 WA FT 3cal TASTI
U ‘eqeT & A 9T giaT 87
1. Tl

2. 31

3. Tog AT

4, 33T

Correct Answer :-

10) 9 gH ¢ Tan €} g T8 @
T F eaaT W/ 91 & Woll W@

oo w3t g @ o wft v A
R qH 9¢ Tl R A T e
A 9ETS @ R A gers @

@ fast s 7€t qu fast ser adt
R g w2 Tall o gF 93 TN
wIa & fF Td @ Hor g T Wy @
¥4 ¥ 9 9 I & 9¢ 9

R g 9¢ Tan R gH T Tan



3YYFA ISHIYT FT YGHT AT qF S I WA FT 3ca TAZTI
WReT: ‘G T YAIIAT) Ueg FAT §7?

1. T8

2. g%

3. drar

4. 9q

Correct Answer :-

11) 9 gH 93 Tan €} qH T8 @
T F el W/ 91 & Woll W@

tast Y 5% @ g w3 wF A
R qH 9¢ Tl o A ¢ T
HA qerE @ RiE A Ers @

a# fast s 7t qw fast ser adt
R g 9¢ Tan R gH T¢ Tan
w8 & Ud @ Hor g T Wy @
¥4 ¥ 9 9 I & 9¢ 9

R qw 93 Fan R gH T Tan
39YFA IGHY T YGHT Al G I aTd WA FT 3ca] TASTI
wee: ‘st &1 3 w4 82

1. 3rHgeTNe <afdd

2. 3NTSTh T

3. 3V grell egfad

4, frdt O 7 T areT afad

Correct Answer :-

. fpdY ¥ 7 st arer FfFd

12) 9 g# 9¢ Tan €} g T8 @
T & Aol I 9 & Holl @
tasr Feft oF G g Fof wF A
IR 7 % e R g @ =@



A TS 8 RE A gEs @

o fast s adt qw fast ser a¢t

R qH 9¢ Tl R A ¢ T

uid & fF T & wor @Y 7 W @

¥4 ¥ 9 9 I & 9¢ T

R g 93 Tan R gH T Tan
39T YGIIT Y YGHF A & S gl T FT 3ca} qaqmsv|
weeT: ‘fAsv &1 gAEndt asg F4T §?
1. forstr

2. gfast

3. T

4, PR

Correct Answer :-

. fost

13) 4R g# ¢ Fan R qH T8 =@

Ty H Il I 91 & Wl |

SEEE CENECE R

R g 9¢ TN oR gH T Tan

A 9ETs @ e A gErs @

a# fast =0 @t g st s

R g T¢ Tal o gF 93 Tan

9 & & Td @ Hor g 7 Wy @

T @ ¢ Tt oo ¥ 98 Tl

dR g @¢ Tal o gH 93 TN

3YYFA TSI T YGHT AT qF S I WA FT 3cal TAZTI
YoeT: ‘TegAT & GATATE e FiA-aT §7
1. 2fRr 3R Iher et

2. 317 W PIg ¢

3. hdel e

4. dhael AT

Correct Answer :-



o Afr 3R [ AT

14) R q& 9¢ ¥ R A T @

Y H €I W 91 &l Holl @

SEENE CENECE R

R qi 9¢ Tan R gH T Tan

A 9ETS @ g A ges @

A =t =0 7@ qH A=t = @d

R qi 93 gan R gH I Tan

a1 6 U @ WO @ o Wy @

¥ 92 @ Teg @ 9 T

dR g @¢ Tall o gH 93 Tan

3YYFA TSI T YGHT AT q&F S a1 WA FT 3cad TASTI
yeoT: IR 9%W F FfF gy F FAT AFT AT FgA F AT T@T 87
1. dR

2. TS

3. 5737

4,337

Correct Answer :-

15) 9 g# 93 Tan €} g T8 =@
Y H egoT @ Ol &of Woll |

tas 3t g A g Felt T A
R qH 93 Tl R A T e
A TE1s 1 RE A gEs @

TH st 30 it qF s s aE
R qH 9¢ gl o) A ¢ T
wIa & fF Td @ Hor g T Wy @
qF ¥ 9 9 I & 9¢ T

R g 9¢ Tan R gH T¢ Tan
39T YGIIT Y YGHF A qF S gl G FT 3ca} qaqrsv|



WRET: U eI FT a4 57

1. SIS Fafr

2. fa% @@ T gereh S0 & WY 30 el A1

3. f&% T€ & fomdia aRfEufoat @ w8 g wifge|
4. Fah T & HIAR goia & ARebel ITAGT g1 S|

Correct Answer :-

o 3WUFd T

16) R § I aF faaFe drEl 7 g a9 aF A F IF T NPT gHwg T A F FwFTCAT AT T
B F FROT AR I X} 71 3few arliRE A7 7 FE 931 3AF W IFR F FA FA A A
gAar AR afFa dh| g8 gFE F1 anr st A SrEa A1 SO Ik F AR-gey F el seela Al
F W W g W 06U fd & sew-usha Aia aF 3 911 98 Al dgd g0 Fha 1 gh@yor
IPFT H T 98 STATET a1 H Ed F, d9 I F AT H S FH @ W A & 3w agqrehw AT
% Y gad &) 3uF AT § W A qa1 T aAnar it 919 AW gag A I @ AFT 033 9, qW A
Tl X 3R aA PR aw B W dle ame A

3YYFA AT FT IGHF A I3 AT YT FT 3ca IABTI
wee: frw gou & mefish & arral F w@E W IRT °91?
1. offT geu

2. SI3R-Jeor

3. gfachy favagey

4. 9YH faeagey

Correct Answer :-

17) iR @ I« aF AaFa darEl 7 @ a9 aF A F qF 9@ Wagd gHwg G & fF Fgear ar @
B F FROT 3AR IR BEW F1 3w ariRE H7 7 FE 931 3AF W IFR F FA FA A AGEA
gt AR afFa df| 9 gwe 1 anr ot A e A1 gfEor e F dR-gey ¥ R 3Rl ural
F VW W G T 0H-UF G # qodig-odig #Ald 9% o1 91| a8 Al dga g @&d & gf@or
PP H T 98 STATET a1 H W F, d9 I F AR H S FH @ W A & 3w agqrehw A
% Yo gad ¥ 3uF AT § W A qa1 T anar it 919 AW gag A I @ AFT 033 9, @ A
TlgeY w3 AR A A8 I BT 9T dle ma A

3YYFA AT FT IGHF A I& T WA FT 3cal TABTI

YRET: ‘GE UHIT FT ATH off FAE FATeTd A F ey A4S §?
1. Ul

2. 98

3. A

4. Sfleld



Correct Answer :-

18) wR ¥ I« aF faaFe araly 7 g a9 aF A F IF T WP gHwg A & & FwgTCAT AT TG
ma:mwmmmmmammamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot At S A1 T IhiEr A dR-gey & ahie 3Rl ardl
aﬁmemw-wﬁﬁﬁq—zﬁv-Qﬁﬁvmﬁmmlﬁmﬂmwmﬁla’ﬁﬂw
IPFT A I 9% ST N H W/ &, d9 I & AW H FE FH g W T & 37w gy AT
% Yoo gaad ¥ 3% AT 3 W A a1 Fo arar ft @ AT Fag N 7 § FwT 933 @, awW A
TleeY FIQ 3R a9 A a9E B W dle 3 9

3YYFA IEIATA FT GGHF A T AT YT FT 3ca TARTI
WeT: FE F AT G avrar frad e

1. ITEfSAT

2. HEST

3. TR

4, 93R

Correct Answer :-

19) R § I« aF fAaFe darEd 7 g a9 aF A F IF T WaFd gHwg A A F FwgCAT AT TG
gﬁﬂ:mmﬁmﬁ%ﬁw%ﬁmenﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr A aBR-gey & dhie 3Rl Al
N VW W aE T 0H-0F R #§ qoda-gedw die aF 9T a1l a8 el S a9 wh & g
IFFT A I 9% STFeT a9 & W@ &, d9 I F AT A FS FH g W T & 37w aqehw AT
% e gad &1 5uF AT § W A qa1 T aAndr it @y AT gag A 79 @ AFT 033 9, qW A
el Fa 3R A - 99w BT WX dle 3

3YYFA TGATA FT IGHF A T AT WA FT 3ca IARTI

TeeT: AR A FIH gga W Ml gag fraa st faswer s 42
1. gag IR FF

2. gag a dol

3.998 ©: a9

4. gIg A1d a9

Correct Answer :-

« g9g ol g1

9

20) R F 99 aF AaFa dE T g a9 aF AN F IF @ WAFT gHwg T A & FwFTCAT AT TG
B F FROT 3AR IR REW 71 3fow ardiRE A7 7 FE 931 IAF W IFR F FA FA A IS



g AR afFa ff| 9 gwe w1 anr ot A e A1 fEor e F dR-gey ¥ R 3Rl urat
F W W ¢ N &F-UF @ # qodia-edid HAia aF a1 o411 a8 Al Y 9 G&a 1 ghaor
PP H T 98 ST a1 H W F, d9 I F AR H S FH @ W A & 3w aqrenw AT
% Yoo T9d ¥ 58S AT § @ A 91 & AT it TF A Foae A 7 & A 95 I, AW H
Flcedl A 3R 4 PP AW Bt @ dle Ina

3YYAFA ICATA FT GGHFT A IS T WA FT 3ca TABTI

Tee: AET A FE FH A W el T & e deer woad & 2
L g & FI$ 76

2.9 #Hel

3.ar #e

4, ST el

Correct Answer :-

o ST Hiol

21) R F 99 aF AaFa dER T & a9 aF AN F IF @ AaFT gHwg T A F FgTAT AT R
B & FROT AR IR BER w1 Afow arliRE A7 7 FE 931 3AF W IFR T FA FA A A
gt A afFa ft| 9 gwe 1 anr ot A Sea A1 fEor e F dBR-gey ¥ Re Il et
F W W ¢ N &F-UF fad # qodia-ssdd dAia aF 4 a1l a8 Al dga 99 F&a 1 ghayor
PP H T 98 AT a1 H W F, 9 I F AW H N FH @ W A & 3wy aqrenw AT
% Yoo gad ¥ 58 AT F W A qa1 Fo anar it @ AT gag q 7 § AFT 933 @, qwW A
Tl Fa 3R A -2 aIw w1 W dle 3 9

39T AGHA FT GGH Al G AT YT FT 3ca TABT
YT ‘HGHT T TAIIAT Aeq FeA-WT 87

1. S el

2. haer fafay

3. haol Tderafor

4. shddl =A@l

Correct Answer :-

o 3WIad T

22) iR § 99 aF AaFa dEd T & a9 aF AN F 7 @ QaFT gwg T N F FgTAT AT R
B F FROT 3R U Ed F ofevw R s 7 FE B IAH W TER F I FA A QA
gt AR afFa ft| 9 g w1 A ot A S A1 fEor e F dBR-gey ¥ dRe Il aral
F W W ¢ N F-UF fad # qodia-usda dAia aF a9 a1l a8 Al dgd 9o @&a 1 ghayor
IHHT H I 9 Teeld a1 A Ed &, a9 I & AW & FE FF g W Be & 3w aqrehwy A
% Yoo gaq ¥ 58 AT § W A qa1 Fo anar it @y AT gIg q 7 § AFT 933 q, qwW A
el Fa HR A -2 aIw v W dle 3 9

39T A FT GGH AT & AT YT FT 3ca TABT



ueeT: ‘A HT Y FAT g 82
1. 3T ET

2. el

3. 3R |

4. AgAd

Correct Answer :-

23) R ¥ 99 aF AaFa dE 7 g a9 aF A F IF @ WaFT gHwg T A fF FwFCAT AT TP
B F FROT 3AR IR REW 71 ofew arliRE A7 7 FE 931 IAF W IFR F FA FA A A
gAar AR afFa dh g8 g F1 anr st A SrEa A1 SO IhET F dR-gey & el seela Al
F W W 1§ W - fd & sow-ssha Aia aF = 911 a8 Al dgd g0 Fha 1 gh@yor
PP H T 98 STATET a1 H @ F, d9 I & AT H S FH @ W A & 3w agqrehw AT
% Y gad &) 3uF AT § W A qa1 T aAnar it @Y A gag A 79 @ AFT w39 9, qwW A
TlgeY FId AR A -8 AW BT 9T dle M A

3YYFA AT FT IGHF A I& AT YT FT 3cal TABTI
weeT: ‘SATRAT Asg fAFT A ¥ AT 82

1. &ersT

2. dcaHA

3. fagelr

4. deHg

Correct Answer :-

o facel

24) R F 99 aF AaFa dE T g a9 aF A F IF @ AT gHwg T A fF FFTCAT AT T
B F FROT AR I BEW F1 ofew ardiRE #7 7 FE 931 3AF W IFR F FA FA A AGEA
gt AR afFa df| 9 gwe w1 anr ot A e A1 gfEvor e F dBR-gey ¥ R 3Rl urat
F VW W G T 0H-UF @ # qodig-odig #Ald 9% o 91| a8 Al dga aa @&d & gf@or
IPFT H T 98 ST a1 H W F, d9 I &F A H S FH @ W A & 3w aqrehw AT
% Y Tad ¥ 3uF AT § W A a1 T anar it 919 AW gag A I @ AFT 033 9, qwW A
TlgeY w1 AR A A8 aw BT 9 dle e A

3YYFA ICATA FT IGHF A IS AT WA FT 3ca IASTI
eeT: dfa® & sEAATT g FiA-AT 87

1.5%

2.

3. fae

4.3



Correct Answer :-

25) R F 99 aF Raga aEl 7 g a9 aF A F IF @ WaFT gwg A A fF FwgTCAT AT TGP
ma:mwmmmmmammamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot At S A1 T IhiEr A dR-gey & ahie 3Rl ardl
aﬁmemw-wﬁﬁﬁq—zﬁv-Qﬁﬁvmﬁmmlﬁmﬂmwmﬁla’ﬁﬂw
IPFT A I 9% ST N H W/ &, d9 I & AW H FE FH g W T & 37w gy AT
% Yoo gaad ¥ 38F AT 3 W A qa1 Fo arar it @ AT Fag Y 7 § FwT =3 @, qwW A
TleeY FIQ 3R a9 A a9E B W dle 3 9

3YYFA IEIATA FT GGHF A T AT YT FT 3ca TARTI
URa: HEIcAT oeg H1 fAed la-ar 872

1. qUITeAT

2. dRTcAT

3. gIcAT

4. QHTCAT

Correct Answer :-

26) R ¥ 99 aF AaFa aE 7 g a9 aF A F IF @ WAFT gHg A A & FwgTCAT AT TG
gﬁﬂ:mmﬁmﬁ%ﬁw%ﬁmenﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr A aBR-gey & dhie 3Rl Al
N VW W aE T 0H-0F R #§ qoda-gedw die aF 9T a1l a8 el S a9 wh & g
IFFT A I 9% STFeT a9 & W@ &, d9 I F AT A FS FH g W T & 37w aqehw AT
% e gad &1 5uF AT § W A qa1 T aAndr it @y AT gag A 79 @ AFT 033 9, qW A
el Fa 3R A - 99w BT WX dle 3

3YYFA TGATA FT IGHF A T AT WA FT 3ca IARTI
weet: M F F1 Raga 7@ e ar?
1.3 & IS 7

2. el Ao e

3. hdel HHTART

4, HTHGNT 3R 3T Gt

Correct Answer :-

o FHEAART 3R T gt

27) R F 99 aF AaFa aEl 7 g a9 aF A F IF @ WaFT gHwg T A fF FgTCAT AT TG
B F FROT 3AR IR REW 71 3fow ardiRE A7 7 FE 931 IAF W IFR F FA FA A IS



g AR afFa df| 9 gwe w1 anr ot A e A1 gfEor e F dBR-gey ¥ R 3l ural
F W W ¢ N &F-TF @ # qodia-edia HAia aF 1 o411 a8 Al S 9 F&a 1 ghaor
PP H T 98 ST a1 H W F, d9 I F AR H S FH @ W A & 3w aqrenw AT
% Yoo T9d ¥ 58S AT § @ A 91 & AT it TF A Foae A 7 & A 95 I, AW H
Flcedl A 3R 4 PP AW Bt @ dle Ina

3YYAFA ICATA FT GGHFT A IS T WA FT 3ca TABTI
geaT: efis gfaror 3rhieT & el W|a A2

1. HIE &

2. STeTel A

3. Tloleery §18T

4. ®AT H

Correct Answer :-

o Tl S8y &

28) R ¥ IF aF fAaFa =) 7 g a@ aF AN F IF @ AP gHwg T N F FwFTAT AT TR
B & FROT AR IR BER w1 Afow arliRE A7 7 FE 931 3AF W IFR T FA FA A A
gt A afFa ft| 9 gwe 1 anr ot A Sea A1 fEor e F dBR-gey ¥ Re Il et
F W W ¢ N &F-UF fad # qodia-ssdd dAia aF 4 a1l a8 Al dga 99 F&a 1 ghayor
PP H T 98 AT a1 H W F, 9 I F AW H N FH @ W A & 3wy aqrenw AT
% Yoo gad A 58 AT § W A g1 Fo anar it @ AT Fag N 7 § AFT 933 q, qwW A
Tl Fa 3R A -2 aIw w1 W dle 3 9

39T A FT GGH Al q& AT YT FT 3ca TABT
goe: ‘HEIcAT A -1 A 87

1. FHYRT AT

2. AN HATH

3.gded 9HE

4. gfaT FAH

Correct Answer :-

29) R F 99 aF RaFa dER 7 & a9 aF AN F IF @ PaFT gHwg T N F AR AT PR
B F FROT 3R U Ed F ofevw R s 7 FE B IAH W TER F I FA A QA
gt AR afFa ft| 9 g w1 A ot A S A1 fEor e F dBR-gey ¥ dRe Il aral
F W W ¢ N F-UF fad # qodia-usda dAia aF a9 a1l a8 Al dgd 9o @&a 1 ghayor
IHHT H I 9 Teeld a1 A Ed &, a9 I & AW & FE FF g W Be & 3w aqrehwy A
% Yoo gad A 58 AT § W A qa1 Fo arar it @y AT gag q 7 § AFT 933 q, qwW A
el Fa HR A -2 aIw v W dle 3 9

39gFd 39T AT FT GGH Al STLFA Tl F IR IR



weeT: ‘gaw H1 A oreg e F & 4w g 2
1. A
2. T
3. et

4. 91d

Correct Answer :-

30) R & 99 dF RaFa aEl 7 & a9 dF AN N I a9 WaFa gwe a8 f & wgew T P
B F FROT 3AR IR REW 71 ofew arliRE A7 7 FE 931 IAF W IFR F FA FA A A
gAar AR afFa dh g8 g F1 anr st A SrEa A1 SO IhET F dR-gey & el seela Al
F W W 1§ W - fd & sow-ssha Aia aF = 911 a8 Al dgd g0 Fha 1 gh@yor
PP H T 98 STATET a1 H @ F, d9 I & AT H S FH @ W A & 3w agqrehw AT
% Y gad &) 3uF AT § W A qa1 T aAnar it @Y A gag A 79 @ AFT w39 9, qwW A
Tleed #1a 3K 4o A2 AW et W dle 3ma A

3YYFA AT FT IGHF A I& AT YT FT 3cal TABTI
qeeT: AET A S FH FA 3 Mefisl FF ST 92
1. @rsfre &

.98 9

3. Yqer

4. %R I

Correct Answer :-

Topic:- HINDI (HIN)

1) ga1# @ Fla & =S ey i [Awar a4 8-
1. HHEEC

2. fasaTeTeRerdr

3. THTGRITST HTST

4. ¥chldc

Correct Answer :-



2) faefor FY yHEAT FH TAR—T AT FHAT &7
1. RI&TOT G & IMUR |

2. freT0T A 9T T S
3. fIETOT @l 3T THRT IHefaleT Gl
4. 3AH & FIS g0

Correct Answer :-

3) RveTor HEAE WA FT 0T & -
1. 3R Fofr

2. hael gRLJEHT

3. el UTehdT

4. el YA

Correct Answer :-

o 3WIad T

4) 59 YHR & 97 & ereal HT due gar 87
1. dr

2. e

3. 91 &S

4, JeadfT g7

Correct Answer :-

Correct Answer :-



6) o7 3 TUT TF qEY ¥ FAdT F @ §, T|W T
1. 3T el

2. haol Hihfde fATTFT 1

3. haa Alf@® fFaFa &

4. shael faf@d fAcaFT @

Correct Answer :-

. Fad A@s JfFcafFa &

7) QUTAYCET F WE FIA A T 9fFaT }-
1. 3R § A Fr 3%

2.5 & IW @ AR
3.910 ¥ g &1 3R

4.3 | 91U H AR

Correct Answer :-

« 9T ¥ g HT 3R

8) a7 ¥ Fla-¥ fAeusdR aRdg ol fagusr gt &2
1. T[T’

2. JATIARIIOT A

3. TUTEROT IMEATHAT

4. STFST T

Correct Answer :-

9) A ¥ FE TATHR I FgiAgr o [ F gafa §2
1. gheid Fardr foRrem

2. HeATTAAT

3. A @rger

4, STAAHT ETG



Correct Answer :-

. ohe aEA

10) f3FafFaar &1 waor &

1. 3T Tl

2. hael JUIATET ATAITA H HfSAS
3. %had ddell g1y & difsd g

4. hadl THEAAT H Hicas

Correct Answer :-

« 39U @l

11) gdFia Bud BRer Fa w0 T & dof F Fia-a wuw @@ adt
1. 39H Hid o 39 AU Shaol-gast &1 aor fhar g

2. 583 fotrem &1 fagEr smmaa o ouerd g3 &l

3.8 U Ml B

4. g ToRTem 1 gATEEr T B

Correct Answer :-

. g T 1 JAREEY e B

12) ‘3mushr 3mefialeg A THATT FFAS & §H AT T IRAANCT aTen 9F FRES garT R
for@T ST W@T gen?

1. gHAFET PR CaRT @ TARRT A

2. fordl STeTeh @RI JeEretel Y

3. frdl geerstel ganT ST @l
4. {7 garr A &

Correct Answer :-

o AT 9Tl c@RT gersiel &l

13) ‘R ¥cd® & HUGH Hid A?

1.313133%31%31&
2. giderde gRIde aIcarae ‘37




3. AU [ AT
4, Berge ey

Correct Answer :-

. gicaciee eRee I ‘37

14) ‘Fogd 3R 9o e wfdgy ey fFFras @ @ &2
1. foreg o

2. M AR YHIG gfddar

3. 3TAY IR 991G gfaddr

4. TER 9ot &g

Correct Answer :-

15) ‘faar dms [ey F PEuar s §2
1. 3T AR TG Gfaddy

2. M &SI 941G &faadr

3. TSle g4Te gfaadr

4. 3rad FEG Yo

Correct Answer :-
. 3TER HES Yad
16) ‘FHel 95 & AT AR A5F W AW o FT WA qET A FIAOT FiT 67 §2
1. Thel ¢ BId & 8 B Sl o]
2. TR 9 §IT foh oI5 W A o0
3. THeT §¢ glel W S B Sl ol
4.5 € TRl §q g3 AT & ASH W A o
Correct Answer :-

. Tl §E gl T FA5h T A |

17) ‘Fidr Aecwa fras qanr Ra aeF 82



1. 39eg AT 31
Z.WITEI#[
3. HIseT 18T

4. U GhcATA
) C

Correct Answer :-

18) ‘Freq # WEAAE Fadr qea+ g7
1. 70¢ goIR arsra

2. 3T g Fe

3. 31, g

4. FAgICAT gAT

Correct Answer :-

19) ‘I FEE FEF g@rT Af@T &2
1. A Fardr oo

2. #ireH Hgall

3. 9H7IG

4, SAYHT JIIC

Correct Answer :-

20) ‘quT$ I FA YPR FT 9T §?
1. AT 99

2. GIATTSIS 99

3. 3gaiRe a3

4, TR 99

Correct Answer :-

. GATGIS 99



21) ‘forw @t & faeey & et I sryar WA For F RFaor weqa frar smar @ sk
A AARST 1 IufRYfY fAarT -

1. fqaoTcAs ey
2. danferen foeer

3. f[aRTcAs ey
4. feATcHS foiaer

Correct Answer :-
. Aaoneas e
22) A= R Ay Fad qanr fda FaeEh §72
1. ITSIIAal HTYT HfFaer
2. AT TY
3. fa |y
4. ST 9T TAT
Correct Answer :-
o HTIGT Y
23) fFH BEEKE TATRR H BT T ATGACHF EEIAIE F o aid 82
1. gheid Fardr e
2. giAAeesT ded
3. SIUHT GG
4. FAgIeAr gAm
Correct Answer :-

. Hgedr gAT

24) HEUT ¥ HUR W AT FT HlaT A7 83
1. AT 9T, FEeT AT

2. 3ARNcHS 3R GAWPMcHS ST
3. [Forse 3T gTar e

4. AT I, el HTYT



Correct Answer :-

25) fa@a & AFA F1 A g §:
1. SGTRUT & GaRT

2. dicfel & EanT

3. g1 €aRT

4. HIGATHT & GaRT

Correct Answer :-

26) dEa & fAT ST Fem fFe amgaat & AT sraeas g ¢
1. fpeiRTaEdT & forw

2. 98l 3Mg et & faw

3. STeTEEdT & faw

4. QeraTaedT & fov

Correct Answer :-

27) aRa A Y A a9 F1 ST T {2

1. IS HTNT

2. fasmT

3. AT AT

4, TSTHTIT

Correct Answer :-

o TqSTHT

28) gfa-veel! a1 X W@ &, # q@l I | 9T # FT W/ AT 39FA ¢
1. AT AL HEIT

2. el WX T G S



3. %dle H §3T TG Sefam
4. % H UIG AT TTChISam
Correct Answer :-

o HET H gI3T Agl qolIm

N

29) qF g@rT Rar # f@Er =1 oF F¥ YHR FT 99 AT ACAT?
1. TGS 9

2. ATl I

3. FfFderd aF

4. A 9

Correct Answer :-

o IFIIT 9T

30) JrareT FlAT FT 35527 7 -

1. 3T ol

2. Shaol Hel SUTRIOT dTell HINT T FATeT

3. hael STelehl T 3TIROT Y HTAT

4. hael Sielel A AT Iegl ST 99T walm
Correct Answer :-

o 3T Tl

31) HT9T 9 WU § TEF IRT §H FFd A © -
1.3TH & P T

2. 31TEAT &

3. ®dedl &l

4. TTART @1

Correct Answer :-

o TRt @

32) SITNT UGUT F T UfHAT v AT yfhar & &Y -



1. 3 &

2. TR Terdh &

3. [AfRad 3afer g« gord &
4. R §

Correct Answer :-

. TR Tordr &

33) H&T H T Reg & IR & da & g I AarF AR, A, Faa s F av &
garar § @ ag fator f Fla @ R/ srgamar g2

1. A & AT T AR
2. T ¥ geH i AR
3. 8T ¥ Sffeel 1 3R
4. fafrse @ AT $r AR

Correct Answer :-

« AT F AT AT AR

34) fawet & @ wia-dt wfvardar sitvae o= & Faw #F any a9 e 82
1. 99 §&AT 3ferary glar

2.99 & 300 & [ARad &A

3. fafeaa gerus &1 AfRad T« W) g

4. GEATER UG GYel Hl o glell

Correct Answer :-

o EEABR UG Wl &HT o gladl

35) farT # @ #ia- I o F ¥ A orEd FRar § T8 arh Fd §
1. STFATA A3t Fr fFcafed

2. STEY SR 1 AFSA =07

3. Frey-RIeq v grATfos wfeal & gfa fagie & sraan

4. Gehic T HTTdIhIOT

Correct Answer :-

. SIET MR & A\ 0T



36) T H § 59 VAR & w9 A ‘W F1 wAeT fRaT Srar §?
1. 3foaRes a7

2. IATETRS 9

3. AR 99

4. Y01 9A

Correct Answer :-

o 3gaie 97

37) v # @ wla-dt RFdvar dwEg & F@faal & a8 o=t S 82
1. SaeT 1 g w1 AT Hdr &

2. HRA 1iat 1 =0T 311 g

3. gaarAET dr amr #7 faf@a g

4. QAT Tfeawor & woey £

Correct Answer :-

38) fare & & wla-d RAvar FHAFT yAE F ATCH H A 82
1. 3eTehT AT g W 3mend gidr g
2. 3oThT & qUOT oY 3R gl g
3. 379 T & I JATAGTET Al gl

4, 3% UTAT T TIdT Iiaded aidr gl

Correct Answer :-

o 3UA T H g JYIALE) e gl

39) frafaf@a Wl Fa owg i e §2
9 At T gt v e AR A
mafy M @4 AR geeR, Ay ga1 IR 35 verdh
TA F T AERMT TTH Fhed & A7 H WO |
ard 7 g offer a1, = fF W v ewa At 1)
1. gAE HAAT B,



2. AAIATC, Boc
3. TRdie |dar ©og
4.@?@@%

Correct Answer :-

40) frfaf@a TFaat # Fi9 @1 oo §?
dal # IR HA, F F FeR 4,

¥g Ta 91 qH, AT F ARA|

el sft wgeh B, o oft e o,

e gar ot W, et § gER

1. BT B

2. §9 TGN T

3. §IAT B

4, gATET B

Correct Answer :-
. G Beg

41) farafaf@a 9fFaal & ia a1 og §?
& &I A7 g 1 § 3 Fw gy ansy |
3t e 3mer e, a8 wweae w1
1. sl oo

2. g B,

3. Uell B

4. gRENTaT oog

Correct Answer :-

. gReffde &g

42) fArafaf@a 9Faal & sla-ar sesR &2
T R ga R e Afewr sl a9 |
ST 3 SR, W g’ IS HR 18 11



1. FITAATT TPR
2. dICHT 3T

3. Teg 3R

4, 3ETgI0T 3ol

Correct Answer :-
43) FATER 99 # 4AF e & et & o Ry R o7 ol
1. Irseufa
2. 99 & HUGH
3. ATAT-TAr
4. 39a1 fr8TR

Correct Answer :-
o 99 & HUGH

44) frdlt WER FETET & gaa1 A Foe oF § FY w6t fmar s g2

1. AT FHTITY

2. ey wda

3. AT 3TEAeT

4. T TR

Correct Answer :-

45) FEATS W AT g W & AT JAoT F FROT O oeq afFT & gEwd @ weafaa
I3 I afdra gar 8, 39 FlT & oreg afFa Fea 82

1. faRrem ersg i
2. GITOT 2rsq, QAfdd
3. SUSTeAT g ATFA
4. 31fAeT oreg orfeRd
Correct Answer :-

o O&TUT reg ATFT



46) '3t FT S[aT 3 FT W, AHFT FT A4S ¢ -
1. ST ARG |

2. %5 AR T |

3. fordlr T 34T & gikd & AT &

4. QU dlehdd & el JhleT|

Correct Answer :-

o forell & 34T 7 giea @ AT &
47) goar st e F1 e @vor @
1. gfadg

2. GUH

3. T

4. °qY

Correct Answer :-

e

48) YI¥eY qaRT TR H -

1. g&H &9 & fe@mar S g

2. BT &ieh fe@mar S gl

3.9 W fe@mrar S &

4. el Fa @ ST B

Correct Answer :-

49) “HH A3 AT FAAT |

39 99 W A o &

AT T ofier e

o oo s dx w1 - I gfeaw B s f §2
1. ATGAATS TJdcT

2. STIART gIIE



3. AT [g A
4. GHSTHANT dtgre

Correct Answer :-

50) “afe ey wfaAr it FHIE T faw gy Hr FAd 317 Faa war 872
1. g 9ATE gfaaar

2. 3T TG YFA

3. iRclg afadar

4. HETAR JHTE Sfaddy

Correct Answer :-

51) T wherer @at RAER gar &
1. qUT 3&T ferger

2. AI-ATRON Faled H HiSaATS

3. HUSHIT gEd@ed

4.a?m3ra$ra§?rtrmﬁqm

Correct Answer :-

o FAZ-AIRON Tl H HfSAS

52) R WifReT & FIAEE FT YadF FQ AT SAAT 82
1. GAATe 9

2. gRAWT sTaA

3. qHYY T8 feeteht

4, STeTeh! TeoldT ATEAT

Correct Answer :-

o gRIRT FTae



g g Tgel Fgardl g
1. 9&eT

2. 9e

3. e

4. 3¢y IMa

Correct Answer :-

54) ¥EY [AFeT Idv -

m%ﬁaﬂaﬁﬁaﬁrmﬁmwtﬁﬁqﬁc*maﬁtﬁmaﬁgﬂgﬁaﬁmﬁwfﬁ
EICEd

1. IR FreT
2. FGThIT
3, QIO

S

4, 3TTEATT

Correct Answer :-

55) WE Ao qad-

FRIF W W B & Pewar ¢, P # ITafe & faul A e A
1. SGIATHS Aol

2. Qe Al

3. gdcdicH® Ael

4, 3dcdlecdicAs el

Correct Answer :-

« SIGIcHS Aol

56) TaAFdT 9 3T H fATYeT A &1 v AT IR X A F 9 TadAdT FeoTEIRar iR
ITgEadl # 95 A ¥ TF AT B °F FAW A F@EAAT §, W FA GGR A GG ST
I Tadadr A€ T TH TH URIT T Al T A FaAAAT @1 & Fhd, FdF ThH AT
ARIRE A, S AT TAT FAAT § AR TAR FT AT UIod & § FS FIoaAE 87 gl
FAF! ATESENET W A Y TG §, g TR A @ gAR SN & W Y FacaAar ase g



gt afdwl St T@aAar g ured ¥, 9% qEY AfFd #Y T@aAar A aruw A@ g Wil g
TAYOT T@AT ART B §T FAATAT & WY TF QAT FT YA [T S B

3gFa IR=BT F TeH A RE 71T woar 1 3eew AW

‘TH TF UNTH & AT Tl H TIAAAT A8l & ThS - H HYT HT AT FAT &2
1. 3HHT Ig FFAAAT o AL gl

2. 9g foueT w7gr giam

3. 3% gif¥ica Sy Lt g

4, TIAAT 1 ATRRY FE &

Correct Answer :-

57) TaaFdT 39 3T F ATer A &1 v AT IR W A F 1€ TadAdT FWesTERar 3R
ITgEadl # 95 A ¥ TF AT B U FAW A F@EAAT §, W F GGR A HAGT ST
I TadadT A€ B TH TH URIT T AT T A FaAAAT 8] & Fhd, FdF ThH AT
ARIRE A, S AT TAT JAAT § AT TAR FT ATAGT UIod & § FS FIoaAE A8 gl
FAH! ATESENET W A Y TG §, g TR T @ gAR SN & W Y FaaAar ase g
gt TfRwl St T@aAar g ured ¥, 9% qEY AfFd #Y T@aAar A aruw 4@ g wifgwl g
TN TGAT AIRT F & F@eAaT § HY T Gfied T 98T J31 @t

39T IR=dE F TgHT A RU T W F1 3] AfAT:
Y& eI F1 3T oM Fr @ wherr 77
1. 38R 3R &dea

2. MY & TIGIdT

3. TIAFAT HT THIOT

4, TgIAAT &1 ASPR

Correct Answer :-

« 3¥FR 3R Fe

58) TadAAT 39 WY #H AYeT A &1 v AT IR W A & 9Ig TgaAAT FeaERar iR
3gEadl # 9gd A ¥ UF AT F U FA A FTqEAAT §, W P TAR A YA T
N TadTar & T T TF UNTT P AR TA A TEAAAT Ad & Hhd, 9P TH GEAT
ARRE A, Y AT TAT JAT § AT TAR FT ATAGT UIod FF § FS FIOAE 87 2
FHH ABSFNFT W I A FaEAAT §, g gAN T ¥ AR I & W A T qase A
gt vl St TaaAar @ ured ¥, 9% quy AR i TaaAar A auw 4@ g el @+
TAOT T@AT AT B g Fadaar F WY TF rfdcd FT 9T F3T elm B

39T IR=dE F YgHT A RU T woar F1 3”@
frer Reufaal & g aEFsTdiet W s Y Fadadr 87



1. 51 T By 7 &

2. 519 §ARY AT el &

3. 519 AR IMeT § fRdT I dehellh o &1
4. ST AT Tolod &1 TATIT &

Correct Answer :-

o S AR I & TRAT FI dehell® of T

59) FAFdT 9 3T A fATder ¢t &1 vF AT IR W A F 9 FadadT FWoEmar 3R

; # dga S 1 TF AT B gT FAW N FTFAAAT §, W A TR T HUGT qeA
A TaAdT TE & FH TF UNTT H AT TAH HY FqAAdT AE & FhA, SGF ThH GHATT
ARRE A, Y AT TAT JAT § AT TAR FT AT UIod & § FS FIoAE 87 2l
FHA ATESENTFT W A A Faeaem &, g eAR e ¥ g IS F Wt A FacAar ave g
gt aIRRwl St TEaAar g UIST ¥, 9§ g afed Y T@aAar # dee adr g @ifewl g
TROT T@AT AT & & Fadaar & WY OF fded FT 9T F3T el ¢

39dFd IREDT F YgHT AT RT 1T wor F1 3e” AT
forer Reufaatl # Tadaar Voot 3R seg@dar # Tqa at 82
1. T HAT IR L & §1G

2. TATIT UIcd &hdad o dIG
3. [Ader 919 & HRUT

4, STEIT3T & HIOT

Correct Answer :-

e Ush AT YR A & dIG

60) TaAAAT YA T # AET g &1 T AT IR W IS F 96 FaFaT WesmEmRdar AR
3TpEadl # 9ad Il §1 TF AT F 4T FAR A FaEAdT §, W FA GTAR H FYAT e
aﬁrﬁmaﬁélwuﬁmaﬁmmaﬁrﬁmaﬁam Safy T aET
ARRE A, St AT TAT JAAT § AR TAR FT AT Iod FF § FS FoAE A8 gl
AP AESEIRT 9T A AT FaAT §, ﬁmmﬂﬁ#mmﬂ?mﬁaﬁrmmaﬁ
gl AIiRwl St FEdEar gH wed ©, agqa%wﬁaa?rmw#maﬁa:ﬁaﬁm
TAOT T@AT AT & & Fadaar & WY TF M¥cd FT 9T F3T gelm ¢

3rdFa IR=dT F Tea A RE 71T woa 1 3eew AW
TEATAT & WY HIA-WT qeT ST e §?

1. PR

2. a1

3. 3TEGeldT

4. faderar



Correct Answer :-



